Chea.

1

(A) Breraed sjaen
(B) snitae Wfvet sjmn
(C) wrra e sy
(D) W s
2 Which of the following does not exhibit
allotropy ?
(A) Lead (B) Silicon
(C) Carbon (D) Tin 4
B % ¥ R st 1y T W ¥ 7
(A) o= (B) Raferan
(©) @ (D) =
3 Which of the following is the most
abundant meta] ?
P % § 3w '
NI RISERIEC LR o
(A) Ti (B) Al
(©) Fe (D) Cu
4 The oxidation number of chromium in
chromyl chloride is — '
(A) +2 (B) +4
(C) zero (D) +6
B FEE ¥ wiftraw STRIDHTOT 37 o7
qH & §7 ,
(A) 2 (B) +4
C) = (D) +6
5 Which among the following metal's oxide
provide amphoteric nature ?
(A) Aluminium  (B) Silver
(C) Sodium (D) Calcium
M1 & 4 il arg onags swaendt vt
BE 7
(A) Tegfafan (B) =i
(C) #ifeay (D) %fverm
5] 4B
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Structurally biodegradable detergent should
contain

(A) Phenylside chain

(B) Branched alkyl chain
(C) Normal alkyl chain
(D) Cyclohexylside chain

U 3 P o

10

rajhindinews.com

Old paintings can be restq
oxidizing agent -

IO Rl & we g TR ¥
fRa < W ¥ 7 S
(A) H,PO,
(C) H,S

red through an

(B) H,0,
(D) H;0*

What property stays the

S .
physical and chemical change:?:fa(ii:;:g
system ? '
(A) Mass

(B) Shape

(C) Density

(D) Arrangement of particle

T 9% o § i o T wfady

%Waﬁﬁ—mmm&aﬁ{aw%?
[A) Femm (B) amart

©) T= (D) &9 &1 frarg

Which radioactive clement is used in heart
pacemaker ?

(A) Plutonium (B) Deuterium

(C) Uranium (D) Radium

P & § B W o T TeT
T H ITAT o &2

(A) < (B) syefem

(C) Firm (D) feam
Bleaching action of moist SO, is because
of its -

(A) Acidic property

(B) Oxidising power

(C) Reducing power

(D) Basic property

T SO, # forte T fpw T A ¥ 7
(A) 0@ o (B) e
(C) o= v (D) et ™

Natural rubber is 3 polymer of
(A) Chloroprene

(B) Isoprene
(C) Neoprene

(D) 1, 3-butadiene

TPl @ Rrgs D &7
(A) TR (B) sg@mi
(C) e D) 1, 3-gererga
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11 Deepdan tradition is related to t

city of | he sacred
(A) Khatu Shyam (B) Salasar

(C) Pushkar (D) Gogamed;
QTS IO BT ey  wEwm
Y

(A) @™ (B) wwmr

©) g

(D) Ty

12 How many princely states were there in

Rajputana at the time of Indiap
independence ?

Wﬁm%wmaﬁéaﬁw
W e fea o ¢
(A) 22
©) 25

(B) 19
(D) 29

13 Who wrote "Kanhad De Prabandh" ?
(A) Khuman Raso (B) Beesaldev Raso
(C) Padmanabh (D) Pratap Singh
DTS < YT H GH BN L 7

(A) @AM TEl (B) drawsa T
AC) T (D) wamaitE
14  According to 'Vir Vinod', in the battle of
Haldighati, what was the strength of the
Mughal forces ?
AR e’ & SRR TRERl 35 ¥ Y &
@ den et dr 7
(A) 40,000 (B) 10,000
-(C) 80,000 (D) 16,000
1S "Pichhwai Paintings" are related to which
of the following ?
(A) Pushkar (B) Vrindavan
(C) Merta (D) Nathdwara
“freag AR & gy fre F § frE @
T
(A) g=T (B) g=ma
(C) W (D) Tz
38] #

16

17

18

19

Netal Ka Bhartar' sung in Rajasthani Folk
Song, refers to which folk deity of
Rajasthan ?

(A) Ramdevji (B) Pabuji

(C) Harbhuji (D) Tejaji

e el § MY S At e o
wate, fpe wibeadr & el ¥ ¥ 7

(A) TRl (B) arslt

(C) Tl (D) st

Temples of Vimla and Luna Vasati were
built at which of the following places ?

(A) Chittorgarh  (B) Jhalana

(C) Delwada (D) Bhilwara

T & o Tl Wiew = ¥ @ foeg wm w
T Y & 7

(A) fadieme (B) wram

(C) wewt (D) *Hrwarst

"Anjuman - Khadim - Ul - Islam" was

established in which of the following
Riyasat ?

(A) Jodhpur (B) Jaipur

(©) Ajmer (D) Alwar

"SI ~ TIH — ST — ST’ o T e
¥y forg Roarew ¥ g & ¢

(A) shagR (B) saqt

(C) sy (D) @&

"Atarkin-Ka-Darwaza" is situated in which
of the following district of Rajasthan ?

(A) Jalor (B) Ajmer

(C) Nagaur (D) Chittorgarh
AR - —g T’ o™ & A W g
Rog R A R 8 7

A) IR (B) R

(C) i (D) fudieme
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20 Ravan Hattha is made of wiich of the | 23 Which Organisation was foundeq

following ? Govind Giri in 1883 1o organise the Bbz 2
. and Girasi -
(A) Glass vessel Irasias of Mewar, Dungarpur, Gujacy
(B) Steel vessel end Malwa 2
(A) Meena Kshetriya Mahasabha
(C) Coconut .
o (B) Neemra Sabha
(D) Neem \vs ) - (©) Semp Sabha
;ra:rmanﬁwqém Ein (D) Paropkarini Sabha
: 1833§ﬁﬁaﬁ;ﬁﬁm‘w- _
(A) &g & Td7 mm%mmmm%m
(B) 3@™ &I T T ST 3 e Bew e A ww @ 2
(D) 9 & T (B) Fm=t s
AC) &3 5w
(D) wiveish s

21  For contribution to which Handicraft of
Rajasthan, has Kudrat Singh been W v . . gk
bestowed with the Padamshree Award ? ansh Bhashkar” was written by which |

of the famous writer ?
(A) Moradabadi Work on Brass

‘ (A) Rai Singh
(C) Textile Printing (C) Krishna Rukmani
(D) Blue Pottery (D) Surajmal Mishra
FIARE B TRAH B 69 Tw@a § AR “H TR @ R v s Ta
& T Tl g § oreiga fem T E ? T ?
(A) e 9T JORE B (&) TaRE (B) Wi |
B) (C) g=m =W (D) g B '
(© 7% @t wwd 25 Which among the following was not a
(D) = wieh supporter of Arya Samaj's ideology ?
(A) Paropkarak
22 The names of Mother and Father of which (B) J mlutkamk i
folk God of Rajasthan was Hansa Devi (C) Desh Hiteshi
and Lohatji respectively ? (D) Rajputana Gazette
(A) Jambhoji (B) Dhannaji IR AR Iﬁh oo T R
(C) Pipaiji (D) Siddha Jasnathji s T ?
TR 3 R it & e g | () O
FERA o Wreel ap (B) sHitass
(A) wrwsh B) w=msh (C) 3w A
(C) iy (D) tra srommrsh /(D) T T
38] ¥
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27

28

29

At what time after child birth is the DPT
vaccine administered to a newborn ?

(A) 6 days (B) 6 months

(C) 6 weeks (D) 6 hrs
el Ry Y w1 3 e T aged LA,
& St qEn o §

(A) ®: &= (B) ®&: wéH

(C) ®: w® (D) & #

Which of the following organs do not

produce digestive juices ?

(A) Pancreas (B) Liver

(C) Stomach (D) Urinary bladder
Prffad & § SF—a1 o TEH T T I
T

(A) =g
(C) s

(B) aod
AD) A -

Which blood group is known as Universal
Donor ? ‘

fpq TaTEE @ AT T HEl S ¥ 7
(A) 'AB' ® B

(C) ‘A’ (D) 'O

Which hormone is produced in insufficient
amounts in Type-1 diabetes ?

(A) Somatostatin  (B) Insulin -

(C) Glucagon
Pt & @ FFA-|1 e YHR-1 & qYIE |
gt a1 & g9 & 7

(A) dRRfe (B) Fgfe

(C) i (D) B) 7 (O) &

DNA fragments separated on an Agarose
gel can be visualised after staining with
(A) Acetocarmine

(B) Ethidium Bromide

(C) Aniline blue

(D) Bromophenol blue

g I 9T gUFHTOl % Uy DAY &
gﬂﬁ;’f # g =15 @ weran 4w o wEA
(A) TERmERA
(C) e =

(B) 3difeqn awge
(D) swifeATe &

18] ¥

(D) Both (B) and (C) |-

31 A genetic disorder in which blood does
not clot normally is -
(A) sickle cell_ anemia
(B) Thalasserma
© Cystic fibrosis
(D) Hemophilia _ .
T oTERT o RTE e T bt AT
T e, § -
(A) faae & TR
(B) St
(C) fafes wEATeE
/D)
32 PBased upon the type of excretory
substance, the human species 1S :
(A) Ammonotelic
(B) Ureotelic
(C) Uricotelic
(D) Ureotelic and Uricotelic, both
et qard 3 emETT WX, W W T
(A) W
(B) gfa
(C) gftew e Saasit
(D) giess orndl Td e I A |
33  The reaction in which multiple copies of
the gene of interest is synthesized in vitro
is known as :
7% afiean fred Sudrl st a1 &% wRipiat
<57 GYAWoT TrATRT 2T REET ST ¥, HEw &
«(A) PCR (B) RIA
(C) ELISA (D) RAPD
34 Which of the following is the largest part
of human brain ?
(A) Brain stem  (B) Cerebellum
(C) Cerebrum (D) Corpus callosum
Pt & § i e e o v b ?
(A) witess T (B) sigiias
C) wifts (D) wereraTs R
35 Which ecosystem has the maximum
biomass ?
(A) Forest (B) Pond
(C) Lake (D) Grassland
few wiitRufre s @1 dawm (arEE)
Stftrem ¥ 7
(A) 7= (B) A
©) = (D) wravfi
5
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. tem Project, | 39 i
;kc“ 36 Under Jaipur Street Light Y5 nstalleil o " which departmeny o Rajast
.Col h lights were ! government publjc privat
m/ OW many LED lig 77 has b ¢ artnership o)
: . December Cn created as the Sta . |
Isan Jaipur city up to - ¥ sy to coordinate o e te Noda agenc
orts
AR e e e Py regarding ppp o 0T state Govcmmcm
) ; 017 ds ﬁﬁa':h T\ra ~ . prOJCClS ?
/ Wﬁ%&mé e (A) Finance Department
/ T .
/8 m (B) 45,000 (B) I“dusfry Departmen
L4 2008 | 15,526 (©) Planning Department
F (C) 26,626 D b - (D) Commerce Department
[ 37 Which scheme has been 13V ng ]I(:/IMIQ FEwfir %%.‘ T H ekt
f ‘ Rajasthan to reduce the IMRha':_ services N TS ¥ Ty g 3 LI
1 and provide free medical and oth® ‘ Y T % i em TR % By &
4 to pregnant women ? h WS HEHICT ' &1 o fyay
"7 (A) Mother and Child He,alt and T™E P
; " Nutrition Day (A) forr fopwmr (B) & fvp
1 (B) Asha Sahyogini (C) smisrr e (D) athores Ry

(C) Rajasthan Janani Shishu Suraksha
40 The monetary measure of the volume of

goods and services produced, within the
boundaries of the state, during a given

Yojna
(D) National Health Mission

et ¥ fig] T AIged g T B m o period of. time, accounted without
Tl Afewel B FLgw @ReE T g duplication is known as -
gryad werm & & g il drer g (A) Gross State Domestic Product
TR 7 (B) Gross National Product
(A) 71g e farg w@wer wd g feag (C) National Income
(B) e gEAfEY (D) Net State »Proit:;a R
JC) e S Big) gean gier T e 3% r 19 o
(D) T w@rer fasm B gu, w PR o ¥ SRT w

el @ e % A G @ w -
LA) WEHd T EXe I
(B) §w TS IR

38  Which city of Rajasthan was declared
India's best city in 'citizens' feedback' in
the category of more than 10 Jakh

population under Swachh Survekshan 2018 (C) T 3
awards ? (D) g& T SR
i) Ajmer (B) Kota 41 Average size of land holding in Rajasthan
(C) Jaipur (D) Jodhpur in 2015-16 was
T & 68 1% & @ wiam 2013 (A) 273 hectare  (B) 5.07 hectare
I & afeta 10 arg g S S % (C) 10.07 hectare (D) 3.0? het;;;:
aﬁﬁﬁmﬁﬁ%nﬁsﬁﬁmmwg{g 2015-16 ¥ Trerer ¥ -l @
e ARG form a7 ST AT
(A). e (B) w (A) 273 ¥R (B) 507 FH
) e (D) Shege (©) 1007 ¥ (D) 307 %
[P.T.O.
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Undor Sman Village Scheme, how many
Villagies have been selected to be dv\'clupc;i
a8 st village in Rajasthan 9

o N end P (i) i & oty
B0 R Prenfra T b R i i i
N oy ¥

(\) 30238
() 273

(B3) 4530
() 6013

Which of' the following is not included
under non-tax revenue receipts for the
Budget

(L) Grants-in-aid

(B) Stamp and Registration fee

() Interest receipts

(D) Receipts from social services

B Y Y e O g - o e wikr
b ot st T R s 2

(\) IR ST (Grants-in-aid)

(B) "N @ R B

©) s wikwi

(D) smiise el ¥ wiiteat

44 Contribution of services sector in
Rajasthan's Gross State Value Added
at basic constant (2011-12) prices in
2017-18 was

2011-12 &) RET STHIOE BING X TOTRAN |-

B FEW T eaardtar ¥ {1 85 & IEH
2017-18 ¥ w0 & ?

(A) 35.07% /(B) 55.07%
(C) 45.07% (D) 25.07%

L
n

Number of micro, small and medium
enterprises (MSME) in 2016-17 was
(A) 3.33 thousand (B) 2.53 lakh

(C) 5.53 crore (D) 5.53 lakh

2016-17 ¥ qw, WY Ud wow g@EEAl A

& i -

(A) 5.53 & (B) 2.53 W@

(C) 5.53 &l (D) 5.53 /@
k1

16 Which state became the first state to fix a

mipimum cducational qualification for
coptesting elections in Panchayati Raj
institutions ?

(A) Madhya Pradesh(B) Andhra Pradesh
(C) Rajasthan (D) Karnataka
Y TS TR W AR W & fed =g
AR AR T BT G T DA
¥ 7

(A) W WA
(C) TSRUM

(B) arigr w9
(D) wafe®

47 Where is HPCL, Rajasthan Refinery
Limited situated ?

(A) Jalore (B) Jodhpur

(C) Barmer (D) Bundi
wadrilew, Tt el s wel Rad
¥ ?

(A) ST@ER (B) <EgT

+(C) aEiT (D) g

The head of the State of Rajasthan prior
to 1 November, 1956 was known as:

(A) Governor (B) Royal Highness
(C) Excellency (D) Raj Pramukh

| T, 1956 ¥ o TSR T 1 e
HEAT a1 —

(A) TR (Te) (B) werwen st
(C) wemfen (D) T wy@

48

49  Which one of the following Chief

Minister’s tenure has been the shortest in
the State of Rajasthan ?

(A) Shri Hiralal Devpura

(B) Shri Haridev Joshi

(C) Shri Jagannath Pahadia

(D) Shri Barkatullah Khan

P ¥ ¥ Torem Tew % fee gt @
BEEW TN B qafy & @ E 7

(A) A e @y

(B) s shea wish

(C) &t sy werfyan

(D) & Txwge @t

7 ‘ ~ [PTO.
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52

53

Tl ST WA D T

Wl}at is the tenure of members of the
Rajasthan Public Service Commission ?
(A) 62 years '
(B) 6.years or 62 years of age, whichever
is earlier
(C) 6 years i
(D) 6 years or 65 years of age, Whicliever
is earlier
I S T o & e EIRLIG
feperr & & 7
(A) 62 Td @ MY TB .
® 6§ o 62 a9 @ og, A A T
& f g @
(C) 6 N
(D) 6§ s 65 € @ g, A A e
St o gEE @ S

‘Mangarh Dham’ known as Jallianwala
Bagh of Rajasthan, is situated at

(A) Alwar (B) Banswara

(C) Rajsamand (D) Bikaner

“qTe g S T &1 S ST
T A yRrg ¥ el Rea ¥ 7

(A) 3T AB) FtEawE

(C) ey (D) S&mT

When- was Rajasthan State Election
Commission established ?

T g frafe s & Ted e ad
¥ gamar ?

(A) 19937 (B) 1992

(©) 1991 (D) 1994

The members of State Information

Commission are appointed by the

Governor on the recommendation of a

Committee not consisting of :

(A) A Cabinet Minister nominated by the
Chief Minister

(B) The leader of the opposition party in
State Legislative Assembly

(C) Chief Minister .

(D) A judge from the High Court

T ga 1 amanT & qeedt & Frgfh T

a0 wffe o Rywifeer q@ A w8, e

W T By -

e B J Sl B2

54

56

Which of the following statement/s is
correct related to State Information
Commission of Rajasthan ?

(1) It is a Statutory body.

(2) It is an autonomous body.

(3) It was established on 18, April 2005.
Choose the correct code :

(A) (1), (2) and (3)(B) Only (1) and (2)
(C) Only (1) (D) Only (3)

P F § T GO TN T & §eH
P W HaT wAE 7

(1) ¥ & St Fea § |

(2) g5 @ FeE ¥

(3) s@e Mo 18, edw 2005 B ga 41 |
¥ @i gT -

@A) 1), @3 @) B 1T
(©) & (1) (D) fa& (3)

In which one of the following State
assembly elections NOTA button was used
in EVM for the first time ?

(A) 13t State Assembly Elections 2003
(B) 12th State Assembly Elections 2003
(C) 11th State Assembly Elections 1998
(D) 14th State Assembly Elections 2013
Shum g § Aer 929 S IYGAT TEell T
& A faumew 9@ § fear @ ar ?

(A) dTearl faarayr g9 2008

- (B) sReal fquraw g 2003

(C) Tarewal fqaras g 1998
(D) diegal faumaw g 2013

After the State reorganization in 1956, on
the recommendation of which commuittee,
the Rajasthan Public Service Commission
was transferred to Ajmer ?

(A) Sadiq Ali Committee

(B) Administrative Reforms Commission
(C) Satyanarayan Rao Samiti

(D) None of these

1956 ¥ T gfet & AR few wiifa @
RyeifesT TT T WY {a1 I &Y STt
W e man ?

(A) ot oren afifa

(B) womEfE GUT ST

(C) SaRmw Ta |l

(D) 37 X ¥ & T

e JERTO.

R Ak e s
SRS (o
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57 Who e .
O convenes the meeting of Gram Sabha

in absence of Sarpanch and Upsar '
¢ St h?
o psarpanch

(B) Panchayat Secretary
(C) Collector
(D) Member of Gram Sabha to be cléC1cd

for the Purpose of majority of
members

T T SqEAY ,
Waﬁwmﬁqwm% ?ﬂmwa‘z’t
(A) 138

(B) vamg wfyg

(C) foramdhar

(D) 7 1 2T g wem 3 Ry
ki S Prarifera

58 Who was the first elected Chief Minister
of Rajasthan ?

(A) Tika Ram Paliwal

(B) Mohanlal Sukhadia

(C) Heeralal Shastri

(D) Haridev Joshi 5
T & wow fraffe gersh &= &
(A) STt ureiEr (B) e gt
(C) dem el (D) whdg sheh

59  Which constitutional amendment limit the
size of the Council of Ministers in
Rajasthan ? . ]
(A) 915t Constitutional Amendment
(B) 44th Constitutional Amendment
(C) 42nd Constitutional Amendment
(D) 122nd Constitutional Amendment
P & @ FF-ar afqum dalem Temam ¥
4t ity & e & wiifE e ¥ 7
(A) 91 af dhram dolem
(B) 44 ot dfqum daem
(C) 42 ot wfqum dsiem
(D) 122 4f dfqam d@aem

60 Jaipur Metro became operational in the

year -

YT A A YO B §Y
AA) 2016 (B) 2015
(C) 2014 (D) 2017

3] ¥

61

62

63

Elecyric motor works on the principle of :
(A) ohm's law

(B) Newton's law

(C) Electromagnetic induction

(D) Bio-Savart's law

e i Pt Rt T et e &
(A) aim @1 Fram

(B) == @1 fram

(C) ferga-geaana o

(D) am-¥aé &1 Fraw

Which of the following can produce a
virtual image which is always smaller than
the object ?

(A) a concave lens
(B) a convex lens

(C) a plane mirror

(D) a concave mirror

frfafad & ¥ @ Y oy st ==
a1 ¢ S T ag A B A ?

(A) 3raaw &9
(B) vuw o

(C) wwaw
(D) 3raaw gqur

The resistance of a conductor depends
upon :

(A) its temperature
(B) its cross-sectional area
(C) its length
(D) all of the given options
T aoE & Ry Feit e ¥
(A) &% U W
(B) 3% ATRT FR &GN W
(C) e g T
AD) @ M oft frew W

[PTO.
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65

66

38]

@ Sw T W A o Ry o

: inbo
The order of colours 1 @ rainbow from

lower edge to top edge IS ——
(Here R=Red, O=0range: Y 361{;)“,,
G=Green, B=Blue, [=Indigo, iolet)
5 gy ¥ fred ﬁmﬂ ¥ Sl fzﬂﬁ -
o a1 o o & - (T i R=a, U=,
y=drem, G=g%1, B=TI, 1= (),
v=m)

(A) VIBGYOR (B) ROYG\(/)IB

(C) ROYGBIV (D) GBIVYOR

Which of the following is not correct for

the image formed by a plane mirror ?

(A) Image is always erect.

(B) Image is always real.

(C) Image is always virtual.

(D) Size of image is equal to that of
object.

e <@g % ghifea & fg Fe ¥ @ am

T ?

(A) Wi ghem Eem B ¥ |

(B) s gAe Tt e ¥ |

AC) wiifer Ehm TR B E |

(D) WRiRF T oMeTT aEg o ST & STET
T | .

When an object is at infinity, the positidn
of the image formed by a concave mirror
is at ;

(A) Infinity

(B) Centre of curvature of the mirror
(C) Focus of the mirror

(D) Behind the mirror

T 0 TG T S T ot g o 3
(A) o1 T '
(B) U1 & et e 41

(C) T & By TT

(D) =dwr % G%

&

10

67

68

69

70

The splitting of light into its com

. Pone
colours is called : et

(A) Dispersion
(C) Reflection

(B) Refraction
(D) Polarization

WﬁTmthﬁﬁﬁWqﬁm
¥

SA) fagror (B) @ad
(C)Wﬁ?ﬁ' (D)"g?ﬂwm

In human eye, the image of an object jg
formed at :

(A) Retina

(B) Iris

(C) Cornea

(D) Pupil

g W § fRdt aeg 1 fafra e ®
AA) FhReTE T

(B) uftarar (smsfed) oX

(C) wifar o

(D) gae W

The charge on an electron is :
T S U ST o ¥
~(A) +1.9 x 10716 Coulomb (g&m)
(B) - 1.6 x 107! Coulomb (Fwm™)
AC) +1.6 x 10719 Coulomb ()
(D) - 1.9 x 10-16 Coulomb (g=™)

Unit of magnetic flux is :

(A) Weber (B) Gauss
(C) Tesla (D) Coulomb
TEBA TR D IAE ©

AA) 9T (B) TeH
(C) < (D) o™

[PTO.
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TV A passage Is followed by a Inference which can
be drawn from the Jacts stated In the passage.
You have to examine the Inference in the context
of the passage, declde upon Its degree of truth or

Jalsity and choose your answer accordingly.

Though the state cultivates only 3.2 lakh
tonnes of mangoes, they are of premium
quality and with mangoes becoming
second most consumed fruits in the world
after grapes. The government has been
trying to export it through sea route which
is cheaper. An experiment which was done
in this regard last year has proved
successful.

Inference : Quality of mangoes is an

important factor in exports.

(A) The inference is probably false.
(B) The inference is probably true.
(C) The inference is definitely true.

(D) The inference is definitely false.

& 79T F AT} U Ry Rar may ¥ ot wwmisr & apfa
TGN ERT T T W &1 may 7@ ¥ a7 F frerd
FT GG FAT & T TAF TIA A FAAA F @ I

Refor-sv &, aegar sy sav &1 9979 & &)

TEl T Ha 3.2 W@ T AW B JgEn
B & S f5 Iea R § O ¥ WA
M, TR & S faeg & qEa gad ofm
SN foFaT ST 9T W B ST T ¥ | ER
IR & TN 36% aid & eiier & W E
St 5w %138 g9y ¥ T 9w g
foran T o < wEw Ry gom ¥

Frepd @ o @ e se% Pl ¥
T TeF §l

(A) Frend gomea: s ¥

, (B) Trent wwvam: e ¥

(C) fred fr:wde v ¥

(D) frd fwde o &

8] ¥ ' 11

|

24 person buys apples at 4 for Rs. 3 and
sells them at 5 for Rs. 4. The gain or loss

percent is -

%

(B) loss 6

(YRS

2
(4) gain 163%

i
(C) gain 6-§-% ) loss 1625

vg a3 A 4 Ta EiEm t awm 4 52
% 5 41 aual ¥ mmmm"#;ﬁ—ma%—.
2 T T
(A) @™ 16=%  (B) " 6-%
> 3

)
AC) @™ 6%% (D) & 16—3—%

73 - To complete some work, A takes half time
than B. C complete same work in same
time in which both A and B complete
together. If all three together complete this
work in 7 days, then in how many days
will C complete this work alone ?

(A) 35 days (B) 21 days

(C) 14 days (D) 42 days

A T8 & @ g ed & g B § o e
WaT 3 1 C 38 B & Sav 999 ¥ 0 B
¢ fa @7 § A @ B 91 et ©f W@
T 1Ak A Pt s sm w7 R Y o
B & A C rpen S8 aW B fvaw Ry §

of Bem ?
(A) 35 &= (B) 21 &=
A©) 14 f= (D) 42 R

74 P, Q R, S, Tand U are sitting arround a
round table. P is between T and U. T is
opposite to S and R is not in either of the
neighbouring seats of T. The person
opposite to Q is
P,Q,R, S, Taur U t& 7w ¥ & a1 3K
WEIRTIMUSIN I IT.S &
g 31 ¥ ok R, T & 919 Tl S-S
ol fFf e w T S ¥ 1Q ¥ W B
Cr

AA) U
C) R

(B) S
DT

[RT.O.

v 3
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75

76

77

18] ¥

R

I'he number 2V

(A) an irmational number

is ~

(B) an integer
() a natural number
(D) a rational number

RIS ¥ ¥ -
(A) @ sty ws
(B) w i

(€) & WiFd ¥
(D) us witiy g

How many squares are there in the
following figure ?

Ay SRR § Rocdt i ¥ 7

(B) 5
D) 10

A) 9
< 4

If the mean of @, b, ¢ is M), and the mean

of 02. bz. ¢? is M, , then one mean of
ab, bc and ca is

g | 2
o a b, @ A M, @ a®,b?, ¢
& o M, 8, A ab, be T ca T H
g & -

IM,? - 2M,
2

M2 - M,

@ —5—

'd

(B)

2 2
M2 -3My ) 3T - My

© 3 K

12

18

79

80

AA) 1,92,000 %.

The age of 8 man is twice the square of
C .
the age of his son. Eight years hence the

of the man will be 4 years more than

age
\ ge of his son. The present

three times the a
f the man 1S

age 0

(A) 36 years (B) 42 years

(C) 48 years (D) 32 years
gﬁpmaéqmawmﬂﬁmm
gazaarrg%f%rﬂﬁmaémmm
) aer ong ¥

(A) 36 ®) 427

(©) 48 = /D) 32

2,000 deposited at

The sum of Rs. 1 _
double 1n

compound interest, becomes
5 years. In 20 years it will become :

(A) Rs. 1,92,000 (B) Rs. 1,24,000
(C) Rs. 1,20,000 (D) Rs. 96,000
agf = @ el T @ 12,0007 I TR
5o § gl B o # 1 20 T & e TR &
R
(B) 1,24,000 =.

(C) 1,20,000%. (D) 96,000 %.

One day Tom left home and walked 50 m
towards south, turned right and walked
25 m, turned right and walked 50 m and
turned left and walked 50 m. How many
meters will he have to walk to reach his
home straight ?

w R W ¥ Peear ¥ ol qfmr A
50 #1. @ §, ¢ I ¥ ofT 25 W, gwd
¥, ad yean ¥ ot 50 . mwan ¥ ofv and
ot 50 . G ¥ 10 o o g
fg 3A Reawt W), a@ T W@ ?

(A) 60 ~(B) 75

©) 30 (D) 150
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81  Identify the single letter, which When

removed from the following words form
new words.

SH T &R @l Bifey g gem & 916 g
TR Y T = ¥

MINK, WARM, LAMP, TEAM

MM (B) R
© A D) L

893 + 786)% — (893 _ 78¢)2
g\ 6)” - (893-786)°

(893 x 786)
(4) 8 B 4
© 2 (D) 16

83 Read the line graph given below and

answer the question :
Production of wheat
(In thousand quintal) in last five years

Production
(In thousand Quintal)

AN

0 2013 2014 2015 2016 2017
Years =

What is the ratio of production of wheat
in year 2015 to year 2016 ?

(A) 4:3 (B) 2:3
(C) 3:2 (D) 3:4
38] . 13

%mmmﬁaﬁmwmwmm
T
T ura a9 § W F IARA
(eam R )

> =

I
(FR feiea ) —

— N W A L I ®
L

0 2013 2014 2015 2016 20
'. af -

1 -
T 4

17

¥ 2015 @ 7 2016 ¥ A H A W
YA R 7
(A)4:3
©) 3:2

~ 4

(B) 2:3
AD) 3:4

84 In z; certain code 'TAKE' is written as '#2$5'
and 'BEND' is written as '1%@4".
How will 'BANK' written in that code ?
% filtaa g § 'TAKE' &t '#23$5" foran s
¢ da 'BEND' &t '1%@4' foran wrn )
T $z ¥ 'BANK' &% foran s ?
A) 128@ ~(B) 12@$.
©) 21@$ (D) 21$@

85 The sum of the place values of both the
threes in the natural number 43836 is -

Wi WEr 43836 ¥ G A & g 7l
@ g ¥ -
(A) 330 (B) 33

© 6 (D) 3030
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86 Kalpvrikshy' of Rajasthan is
(,\.) Khejari (3) Sall tree
() Dhak tree (D) Pallas

90 ‘Nathra-Ka-Pal’ is having deposits of “
which of following metal ? 1

USRUT a1 gy ¥ (A) :m"’ (B) Tungsten
ey C) Lead D) Copper :
(C) ;ﬂ (D) venmg ¥ 7
87  Which of the following National Park ig (A) witet AB) sme |
the smallest National Park in Rajasthan 9 (C) drar (D) dfar

(A) Ranthambore National Park

(B) National Desert Forest

(C) Keoladeo National Park : : i

(D) Mukandra Hills National Park (A) Begr o

Frafila ¥ A @ w sy s TR O O |
_ TRy (e 7

e B sy 3aE § 7 Frer & & @F-dr T AT ?

91  Which one of following is not a breed of
sheep ? ‘

(A) Tt s o (A) aret (B) Hrgd
(B) T T T e |, (© AD) T
AC) FawrRE W Fr | 92 “Sci Project’ is related to which of |
(D) o= Rew Agme urd , following dam ? f
. R . ; (A) Jawai dam
P o ol llowig milipurose | (3 s
Pro) SRk (:'LC e B (C) Jawahar Sagar dam _
(A) Bhakra Nangal project ; |
(B) Indira Gandhi Canal Project . (D) Ganclii Sagar ddr 5
(C) Beas project ﬁqﬁu‘mﬂr? " grey B A @ Rew Tty |
(D) Mahi Bajaj Sagar Project ' :
Preiferfae 1o @ agaRed T8 HIéY R (A) SR At
(B) &t @iy

e s RAmm A @ E P

(A) @St AT e (C) Tt ¥ ATy

AB) e ieh TeT qf@ter (D) ey g @ty . |
(C) = e | 93 Which one of the following is not a reason
(D) &MY g WO qfErerT . of Desertification ? |

(A) Deforestation

89 Kho-Dariba belt is known for . . _
- = (B) Increasing population

(A) Lime stone deposits . I ¢
(B) Iron ore mines (C) Extreme weather conditions :
(C) Copper mines (D) Use of Acidic land |
(D) Coal mines e & § a1 oh Teedwen & &
@l &% ¥ frg wirg ® 1 T ?
JA) ¥ T A I (A) TR
(B) el T il (B) =@l STrarey )
(C) @™ @l (C) war wrendt uftReferat j
201 . 14 e ikl
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94

96

97

Whi i

h'lijfch of following region of Rajasthan is

K‘ Ing of Bshw type of climate as per
oppenn’s classification 2

(A) East 1o Aravalj

(B) South to Aravalj

(€) North to Aravalj

(D) West to Aravalj

?ﬁéiﬁ—mmwﬁﬁmhwm

% ?aﬁmg B iz & orgare

(A) TR % 4 771
(B) oraht & afor a5t wyy
,(D)mmaiqf}aqmm

“Rotu” is reserved forest area of
district of Rajasthan.

(A) Churu (B) Chittorgarh

(C) Bikaner (D) Nagaur

‘UG I H e a1
AieT a9 ax ¥ )

(A) I% (B) firee

(C) drarmt (D) AmiT

Auguncha-Gulabpura mining area is
famous for which of following couple of
minerals ?

fA-TaEqy @ a7 fra 4 q afe &
fem w2 & fau ufgsg & 7

(A) Fe-Ni (B) Mg-Mn

(C) Zn-Pb (D) Ag-Au

Nohar Canal project receives water from
which of following source ?

(A) Bisalpur (B) Satluyj

(C) Ravi-Beas (D) Panchna

et 7ET gt & P o | g i @
oo foeran & 7
(A) draege
(C) TE-=mg

(B) wagw
(D) dfan

3] ¥

15

98

99

100

What is the main objective of water audit

in state of Rajasthan 7

(A) Municipal and industrial water
conservation

(B) Urban water conservation

(C) Efficacy, maintenance and safety of
water structurcs

(D) Rural and agricultural
conservation

erear™ o d G Fa afe & e e

FME 7

(A) T AT Ariths 77 A

(B) &8 w1 "TET

(C) @ waH qraAaAl @ Iargreaad,
@t@e 3T g

water

Which one of the following plateau lies
below the main peak of Guru Sikhar at a
distance of about 8 km from Mt. Abu
station ?

(A) Oriya plateau

(B) Mesa plateau

(C) Bhorat plateau

(D) Deccan plateau

Prafafaa & § #F-a1 were wis= s odq
;uﬁlﬂsfbiﬁqtqsﬁrmiﬁa%%ﬁfwa
AA) m qart

(B) %a1 wart

(C) Wz &1 yar

(D) 7@ qan

Western cyclonic disturbances in Rajasthan
is known as :
(A) Mavath (B) Thunder shower
(C) Loo (D) Hail storm
T W ufyad) fay awaral &
wd ¥ |
AA) wag
© 7

(B) A @
(D) siegfe
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